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Question (1):
Regarding the quadrate lobe of the liver, which of the following is correct?

A. It has a fissure for the ligamentum teres on its left side.
B. It is related posteriorly to the inferior vena cava.
C. It has a papillary process.
D. It is a rectangular part on the superior surface of the liver.

 answer:
A. It has a fissure for the ligamentum teres on its left side.

Question (2):
Which of the following forms the left boundary of the quadrate lobe of the liver?

A. Groove for the inferior vena cava
B. Porta hepatis
C. Caudate lobe
D. Fossa for the gallbladder
E. Fissure for the ligamentum teres

 answer:
E. Fissure for the ligamentum teres.


